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Name: __________________________________



1
Explain why [image: image1.png]21



 equals 27.

2
Explain how [image: image2.png]


 can be evaluated using properties of rational exponents to result in an integer answer.

3
Explain how [image: image3.png]


 can be written as the equivalent radical expression [image: image4.png]


.

4
Explain what a rational exponent, such as [image: image5.png]


 means.  Use this explanation to evaluate [image: image6.png]


.


1
ANS:


The denominator of the rational exponent represents the index of a root, and the 4th root of 81 is 3 and 33 is 27.
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2
ANS:


Rewrite [image: image7.png]


 as [image: image8.png]


, using the power of a power rule.
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3
ANS:


Applying the commutative property, [image: image9.png]


 can be rewritten as [image: image10.png]


 or [image: image11.png]


.  A fractional exponent can be rewritten as a radical with the denominator as the index, or [image: image12.png]


.
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4
ANS:


The denominator of the rational exponent represents the index of a root, and the numerator of the rational exponent represents the power of the base.  [image: image13.png][ﬁ]ssm
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